Montageanleitung
Installation instructions

KWS ErgoSystem® E300
Haltegriff / Grab rail

82.8201.. / 82.8202.. / 82.8203.. / 82.8210.. / 82.8211.. / 82.8212.. / 82.8213..

KWS

1/4

1
4 4 %
2
— @ @ o ﬁ ¢
] G} max. 100 kg
psamm WD) oD
| w W 850mm
. @
«— J70mm ———»
3 4 OFF v

Woelm GmbH, Hasselbecker StraBe 2 — 4, D-42579 Heiligenhaus ~ Tel. +49 2056 18-0

Fax +49 2056 18-21  www.woelm.de

contact@woelm.de

DS828200001/05.2025



Montageanleitung
Installation instructions

KWS

KWS ErgoSystem® E300 2/4
Haltegriff / Grab rail
82.8201.. / 82.8202.. / 82.8203.. / 82.8210.. / 82.8211.. / 82.8212.. / 82.8213..
2% 2% 2%
% T
(1‘“@&.’7@
?8mm @8mm SX8

—|50mm|«— —|50mm|«

Woelm GmbH, Hasselbecker StraBe 2 — 4, D-42579 Heiligenhaus ~ Tel. +49 2056 18-0  Fax +49 2056 18-21  www.woelm.de  contact@woelm.de

DS828200001/05.2025



Montageanleitung
Installation instructions

KWS ErgoSystem® E300
Haltegriff / Grab rail

82.8201.. / 82.8202.. / 82.8203.. / 82.8210.. / 82.8211.. / 82.8212.. / 82.8213..

KWS

3/4

Woelm GmbH, Hasselbecker StraBe 2 — 4, D-42579 Heiligenhaus ~ Tel. +49 2056 18-0

Fax +49 2056 18-21

!
10 11
S
12 13
O
14

www.woelm.de

contact@woelm.de

DS828200001/05.2025



Montageanleitung
Installation instructions

KWS ErgoSystem® E300
Haltegriff / Grab rail

82.8201.. / 82.8202.. / 82.8203.. / 82.8210.. / 82.8211.. / 82.8212.. / 82.8213..

KWS

4/4

4 x Schrauben Torx 5 x 50 mm 4 x Schrauben Torx 5 x 50 mm 4 x Schrauben Torx 5 x 50 mm
4 x Dubel SX 8 4 x DUbel SX 8 4 x DUbel SX 8
fe—— L, ————» [
[«—— L—» 70« T
} H
0 Ee——9 [ 320 s
f | + J
v - 70 v
93 H t 70 -
T fo— L, — Y
v —(93 |«
=% 7 —7
[«— L —>»
—>/mm|< —>/mm|<
82.8201.. 82.8202.. 82.8203..
6 x Schrauben Torx 5 x 50 mm 6 x Schrauben Torx 5 x 50 mm
6 x DUbel SX 8 6 x Dubel SX 8
_ LI
70 | il D)
T
‘ L —
> 225 |« ‘
H T 93
] =
12
N 148 \ b
g 5 |
— L —>] {93 |« v
82.8210.. Immie- 82.8211.. immie-
8 x Schrauben Torx 5 x 50 mm 8 x Schrauben Torx 5 x 50 mm
8 x Diibel SX 8 8 x Dubel SX 8
LA 310 320 N
E [ T D)
: 1 5k >
L —
Tl e N 1 L, 1
+ 93 > 225 |«
225 T ¥ é
i 225 T
2
L
\ I
—[93 |«
82.8212.. - 82.8213.. ~immpe-

Woelm GmbH, Hasselbecker StraBe 2 — 4, D-42579 Heiligenhaus

Tel. +49 2056 18-0

Fax +49 2056 18-21  www.woelm.de

contact@woelm.de

DS828200001/05.2025



